

Effect of subchronic administration of nutmeg (*Myristica fragrans* Houtt) ethanolic extract to hematological parameters in rat

M S Bachri¹, S Yuliani¹, A K Sari²

¹Faculty of Pharmacy, Universitas Ahmad Dahlan, Yogyakarta, Indonesia

²ISFI Pharmacy Academy, Banjarmasin, South Kalimantan, Indonesia

E-mail: msaifulbachri@yahoo.co.id

Abstract. Nutmeg is dried kernel of broadly ovoid seed of *Myristica fragrans* Houtt. It has been mentioned in ethnomedical literature as aphrodisiac, stomachic, carminative, tonic, and nervous stimulant. In order to establish the safety of nutmeg, the effect of the repeated administration of nutmeg is needed. The study was aimed to determine the toxic effect of subchronic administration of nutmeg ethanolic extract to hematological parameters in rat. A total of 28 male adult Wistar rats divided into 4 groups. Group I as control was given by 0.5% CMC-suspension, group II, III, and IV were given by 50, 100, and 200 mg/kg bw, respectively, of nutmeg ethanolic extract. The treatments were administered daily for 31 days. On day 31 bloods were taken from orbital sinus. The hematological parameter consisted of the numbers of erythrocyte and leukocyte as well as hemoglobin and total protein levels were measured. The data were statistically analyzed by one way Anova followed by LSD test. All of observed hematological parameters in rats showed that there were no significant difference between the nutmeg ethanolic extract treated groups and control group. The result indicated that the subchronic administration of 50, 100, and 200 mg/kg bw of nutmeg ethanolic extract did not cause the change of hematological parameters in rat.

Keywords: *Myristica fragrans* Houtt, subchronic, hematological parameters

1. Introduction

Nutmeg is dried kernel of widely ovoid seed of *Myristica fragrans* Houtt. Nutmeg is an originally Indonesian plant come from the Banda and Maluku islands. Since ancient times in Indonesia, nutmeg has been used as a spice. Several medicinal and pharmacological properties of nutmeg have been reported. Nutmeg has aromatic, stimulant, narcotic, astringent, aphrodisiac, hypolipidaemic, anti-platelet aggregation, sedative and analgesic activities. Nutmeg seeds can also overcome sleep disorders, oxidative stress and be used as a remedy for stomach ache, rheumatism, and vomiting during pregnancy [1–3]. Eventhough nutmeg seed has been used for various symptoms, nutmeg can cause intoxication. Nutmeg essential oil contains pine, sabincene, camphene, myristin, elemicin, isoelemicin, eugenol, isoeugenol, methoxyeugenol, safrole, diametric phenylpropanoids, lignas and



neolignans [4, 5]. Those compounds have been reported causing to paralysis, poisoning, drunkenness, anger, dizziness, falling, headaches, convulsions, hallucination and death [6].

Thus, the safety of nutmeg consumption has become important to be investigated. The toxic effects of the extract of nutmeg might occur with the administration of repeated doses in the animal system. The aim of this study was to investigate the toxic effect of sub chronic administration of nutmeg ethanol extract to the hematological parameters in male Wistar rat.

2. Methods

A total of 28 adult male Wistar rats (150-200 g), were randomly divided into 4 groups consisting of 7 rats per group. Rats were acclimatized for a week, and treated orally for 31 days. The treatment of each group as follows: Group I, as control, the rats were treated with a solution of 0.5% NaCl; Group II, the rats were treated with 50 mg/kg bw of nutmeg ethanolic extract; Group III, the rats were treated with 100 mg/kg bw of nutmeg ethanolic extract; Group IV, the rats were treated with 200 mg/kg bw of nutmeg ethanolic extract. At day31, the blood were taken from orbital sinus for hematological parameters measurement including the numbers of erythrocyte and leucocyte as well as the levels of hemoglobin and total protein.

2.1. The measurement of erythrocyte number

The number of erythrocyte were obtained as previous method [7]. The average number of erythrocytes was calculated by the formula: the number of cells counted $\times 10$ (0.1 mm in) $\times 5$ ($\frac{1}{5}$ from 1 mm³) $\times 200$ (1: 200). The number of erythrocyte were expressed as $10^6/\text{mm}^3$.

2.2. The measurement of leukocyte number

The number of leukocytes were evaluated according to the method described in the previous study [8]. The average number of leukocytes at day 31 in the all groups were calculated by the formula: the cells number counted $\times 20$ (1:20) $\times 10$ (0.1 mm in); 4 (number of squares in mm²). The number of leukocytes were expressed as $10^3/\text{mm}^3$.

2.3. The measurement of Hb level

The level of Hb was evaluated according to the method described in the study by Guder, et al. [9] using spectrofotometer at 540 of wavelength. The formula for calculating hemoglobin (g/dL) is: the absorbance of standard/absorbance sample $\times$ standard concentration. The Hb level was expressed as g/dL.

2.4. The measurement of total protein level

The number of total protein was evaluated according to the method described in the study by Guder, et al. [9]. The formula for calculating total protein (g/dL) was absorbance of sample/absorbance of standard $\times$ standard concentration. The total protein level was expressed as g/dL.

3. Result and Discussion

Observation of blood parameters are very important in the diagnosis of a functionals disorder of organs or tissues. Hematological examination may describe the function of body organs and physiological status. The data of the numbers of erythrocyte and leucocyte as well as the levels of hemoglobin and total protein in rat are presented in the Table 1.

Table 1. The number of erythrocyte and leukocyte as well as the level of hemoglobin and total protein (mean $\pm$ SD) of blood in rat after administration of nutmeg ethanol extract for 31 days.

Groups	Dose (mg/kgBW)	Erythrocyte ($10^6/\text{mm}^3$)	Leukocyte ($10^3/\text{mm}^3$)	Hb (g/dL)	Total Protein (g/dL)
Control	-	7.848 $\pm$ 0.409	7.86 $\pm$ 0.801	10.640 $\pm$ 0.551	8.252 $\pm$ 0.595
Group 1	50	6.520 $\pm$ 0.379*	7.70 $\pm$ 1.134	14.910 $\pm$ 4.134*	8.726 $\pm$ 0.426
Group II	100	6.466 $\pm$ 0.288*	7.47 $\pm$ 1.082	13.914 $\pm$ 0.867*	7.732 $\pm$ 0.500
Group III	200	5.962 $\pm$ 0.179*	7.20 $\pm$ 1.259	14.124 $\pm$ 1.034*	7.852 $\pm$ 0.368

* = p < 0. 05, significantly difference compared with control group

3.1. *The number of erythrocyte*

Erythrocytes are the red blood cells that travel in the blood. They are typically shaped as biconcave disks and manufactured in the bone marrow. The erythrocytes carry hemoglobin in the circulation. The main function of erythrocytes is to distribute oxygen to body tissues, and carry waste carbon dioxide back to the lungs. In humans, they survive in the circulation for an average of 120 days [10].

The result showed that there were significant difference between the rats treated extract groups and control group. The reduced of erythrocytes cells number may be caused by the suppression of blood cell synthesis or red cell lysis by saponins. This finding supported the previous study that nutmeg contains saponin component which have toxic effects on the body's systems [11]. Saponin can cause hemolysis, the destruction of erythrocytes cell, resulting in the release of hemoglobin from the stromal erythrocytes (red blood grains). Hemolysis can be caused by a decrease in the surface tension of the cell membrane affected by several factors such as organic solvents, saponins, bile salts, soaps, enzymes, and other factors [12]. However, in the current study the number of erythrocytes in the extract treated groups showed still in the normal range (5.00-10.00 million/mm³). Thus it can be concluded that administration of nutmeg seed ethanol extract of did not affect the number of erythrocytes.

The results of this study was different with the previous study [13] reported that administration of 100, 250 and 500 mg/kg bw of nutmeg ethanol extract for 14 days could significantly decrease ($p < 0.05$) the number of erythrocytes. The difference of the study may be due to several factors such as the difference in concentration of ethanol solvent, the dose and duration of administration in rat.

3.2. *The number of leukocytes*

Leukocytes or white blood cells are the cells of the immune system involved in protecting the body against both infectious disease and foreign invaders. Immune system refers to the body's system ability to resist or eliminate abnormal cells or xenobiotic potentially damaging. Leukocytes and their derivatives can prevent pathogens invasion (disease-causing microorganisms, such as bacteria and viruses) through the process of phagocytosis, identifying and destroying cancerous cells that appear in the body and as cleansers that clean up body waste by phagocytically debris originating from dead cells or injury [14].

The result showed that there were no significant difference between the rats treated extract groups and control group. The result in all groups was within in normal range. The number of normal leukocytes of rat is 3.00-17.00 (10³/mm³) [15]. The administration of nutmeg ethanol extract for 31 days did not affect the number of leukocytes.

3.3. *The level of haemoglobin (Hb)*

Hemoglobin is a molecule which play an important role for storing and carrying the oxygen in the body. It contains a small amount of iron and heme protein. Hemoglobin has a strong appeal to oxygen. When red blood cells pass through the lungs, hemoglobin will bind oxygen from the air forming oxyhemoglobin [16].

The result showed that the mean of Hb level of group treated by 50 mg / kg bw of nutmeg ethanol extract was greater than the control group, however statistically there was no significant difference ($p > 0.05$). Whereas the administration 100; 200 mg / kg bw of extract and the dose of 200 mg / kg bw significantly increase the hemoglobin levels compared to the control group ($p < 0.05$). However, the increase in hemoglobin levels are still within the normal range (11.0-19.0 g/dL) [15]. Thus it can be concluded that administration ethanol extract of nutmeg seed did not change on blood hemoglobin level.

3.4. *The total protein level*

Plasma total proteins are a group of plasma constituents that are not simply transported. These essential components in normal state remain in the plasma, where they perform many useful functions. Because of a large plasma constituent, plasma proteins usually did not exit to the pores in capillary walls. Unlike other plasma constituents that water soluble, plasma proteins are in the form of colloidal dispersions [17].

The decreased of total protein (called hypoproteinemia) might be caused by prolonged malnutrition, starvation, low protein diet, malabsorption syndrome, gastrointestinal tract cancers, ulcerative colitis, Hodgkin's disease, severe liver disease, severe burns and water intoxication. Meanwhile the increased of total protein levels (hyperproteinemia) can be caused by dehydration (hemoconcentration), multiple myeloma, vomiting, diarrhea, respiratory distress syndrome, and sarcoidosis. Serum protein levels may return to normal if the client is adequately hydrated

The result showed that there were no significant difference between the rats treated extract groups and control group in total protein. The result in all groups were within in normal range. The normal total plasma protein level of rat was 5.9 – 8.4 g/dL [15]. The administration of ethanol extract of nutmeg seed at all doses did not affected protein total level.

4. Conclusion

The sub chronic administration of 50, 100 and 200 mg/kg bw of nutmeg ethanol extract for 31 days did not cause the change of the numbers of erythrocytes and leucocytes as well as the levels of hemoglobin and total protein in blood of rat.

Acknowledgement

The authors would like to acknowledge the Directorate of Higher Education, Ministry of Education and Culture, Indonesia for partially funding the research through Fundamental Grant Scheme (No. 522.5/K5/KL/2012).

References

- [1] Tajuddin, Ahmad S, Latif A, Qasmi I A and Amin K M Y 2005 An experimental study of sexual function improving effect of *Myristica fragrans* Houtt. (nutmeg) *BMC Complement. Altern. Med.* **5** 16.
- [2] Akinboro A, Mohamed K B, Asmawi M Z, Sulaiman S F and Sofiman O A 2011 Antioxidants in aqueous extract of *Myristica fragrans* (Houtt.) suppress mitosis and cyclophosphamide-induced chromosomal aberrations in *Allium cepa* L. cells *J. Zhejiang Univ. Sci. B* **12** 915–22.
- [3] Arulmozhi D K, Kurian R, Veeranjanyulu A and Bodhankar S L 2007 Antidiabetic and antihyperlipidemic effects of *Myristica fragrans*. in animal models *Pharm. Biol.* **45** 64–8.
- [4] Isogai A, Murakoshi S, Suzuki A and Tamura S 1973 Structures of new dimeric phenylpropanoids from *Myristica fragrans* Houtt. *Agric. Biol. Chem.* **37** 1479–86.
- [5] Janssens J, Laekeman G M, Pieters L A, Totte J, Herman A G and Vlietinck A J 1990 Nutmeg oil: identification and quantitation of its most active constituents as inhibitors of platelet aggregation *J. Ethnopharmacol.* **29** 179–188.
- [6] Stein U, Greyer H, and Hentschel H 2001 Nutmeg (myristicin) poisoning—report on a fatal case and a series of cases recorded by a poison information centre *Forensic Sci. Int.* **118** 87–90.
- [7] Dharmawan N S 2002 *Pengantar Patologi Klinik Veteriner, Hematologi Klinik*. Univ. Udayana Denpasar.
- [8] M N, G K, P P, A HK, and C VN 2008 Allethrin-induced biochemical changes and properties of human erythrocyte membrane *Afr. J. Biochem. Res.* **2** 024–9.
- [9] Guder WG, Narayanan S, Wisser H and Zawta B 2008 *Samples: from the patient to the laboratory: the impact of preanalytical variables on the quality of laboratory results*. John Wiley & Sons.
- [10] Snyder G K and Sheafor B A. 1999 Red blood cells: centerpiece in the evolution of the vertebrate circulatory system. *Am. Zool.* **39** 189–198.

- [11] Effraim K D, Salami H A and Osewa T S 2000 The effects of aqueous leaf extract of *Ocimum gratissium* on haematological and biochemical parameters in rabbits *Afr. J. Biomed. Res.* **3** 175–179.
- [12] Gauthier C, Legault J, Girard-Lalancette K, Mshvildadze V and Pichette A 2009 Haemolytic activity, cytotoxicity and membrane cell permeabilization of semi-synthetic and natural lupane- and oleanane-type saponins *Bioorg. Med. Chem.* **17** 2002–8.
- [13] Bamidele O, Akinnuga A M, Alagbonsi I A, Ojo O A, Olorunfemi J O and Akuyoma M A 2011 Effects of ethanolic extract of *Myristica fragrans* Houtt. (nutmeg) on some haematological indices in albino rats. *Int. J. Med. Med. Sci.* **3** 215–218.
- [14] Walters M D S, Matthei I U, Kay R, Dillon M J and Barratt T M 1989 The polymorphonuclear leucocyte count in childhood haemolytic uraemic syndrome *Pediatr. Nephrol.* **3** 130–4.
- [15] Sharp P and Villano J 2012 *The Laboratory Rat Second Edition*. CRC Press Taylor and Francis Group.
- [16] Bunn H F, May M H, Kocholaty WF and Shields CE. 1969 Hemoglobin function in stored blood *J. Clin. Invest.* **48** 311–21.
- [17] Putnam F 2012 *The Plasma Proteins V3: Structure, Function, and Genetic Control*. Elsevier.